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J| 53,616
& 26,808
Al 26,808
307 2iz2to| & 107,232 102,432 4,800
J| 53,616
= 26,808
Al 26,808
02 QI AAIEE X 107,232 102,432 4,800
O HESAMEM SN A HIXI AL
107,232,000 107,232
J| 53,616
= 26,808
Al 26,808
SO MEHFEE 208,400 0 208,400
307 2Iz2t0| & 208,400 0 208,400
02 DIZFE AAIRE E X 112,000 0 112,000
© ZHeIHESUHS SN} (M=2 L C9)
30,000,000 30,000
O HM253 SEEHMAUME 23tEaEdd & 2332
Q! 27,000,000 27,000
O HM253 S XMHUHE s™XA
55,000,000 55,000
03 QIZI P AESIHHIEX 86,400 0 86,400
O HHOIM=ES AIR=2 2HHHIS
83,400,000 83,400
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AN 2Z2HSD
BE: MSHE L WSAL =5
SRS T (29l & 2)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
© Es2% 24l 3,000,000& 3,000
04 QIZFHALAIH B = 10,000 0 10,000
O FoMsEUs SFXNH=)XNE (8= ¢ &
&) 10,000, 000& 10,000
HMEZF A 22 961,989 865,735 96,254
HEHZALEES 2 2t 368,780 372,740 A 3,960
g 29 368,780 372,740 A 3,960
201 24l 212,280 197,280 15,000
01 At 2t 2l 18,300 123,280 A 104,980
© ¥=J|, "ol dE= 4,000,000& 4,000
O AR5 g s Let+=EH| 7,300,000& 7,300
O gt 2olstEd Jizs 7,000,000& 7,000
02 232gHl 193,980 74,000 119,980
O g=a HAEY 102,000, 000& 102,000
© 2223 % HMA 70,000,000& 70,000
O 2=xgd SNl 5,000,000 5,000
© R FHEIH| 11,880,000& 11,880
O AZAIEZZ LS 290,000& = 12& 3,480
O YEHdA=E29H| 180,000 * 93| 1,620
202 O4dl 12,000 12,960 A 960
01 = LH o4 1l 12,000 12,960 A 960
O sENBE YLEX
200,000& = 5¢1 = 12& 12,000
206 M= Hl 4,000 4,000 0
01 M= 4l 4,000 4,000 0
O 2ZMEEA M7 2,000,000& 2,000
O SOHMEdEA e 2,000,000& 2,000
307 gl2tol & 30,500 30,500 0
04 DI2ZHHALALSE E X 30,500 30,500 0
O HHEZMa =S 8,000,000 8,000
O OfMEdAZE 22,500
> 2 2ME A 9,000,000& 9,000
D> SO0t & & At 13,500, 000& 13,500
401 AIEHI L 20HEI 110,000 128,000 218,000
01 A& tl 110,000 128,000 A 18,000
O JAF9, Otlct S MEE=ASAM
10,000, 000& 10,000
O YS2 2T ML A
100,000, 000& 100,000
SHH A2 2 2t 468,209 369,610 98,599




AN 2Z2HSD
X HHEZzREX 2al
ol MR AT el CERED
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
FEIxZZ 2 293,109 223,410 69,699
101 @14 Hl 135,909 135,910 A
04 01ZtHZ22 s 135,909 135,910 A
O HHEZSAX M=EG(Mx, ELI0) o
£ 72,2803 * 5%‘ * 150 54,210
O HHEZSAIX M=EG (M, EZI) =
A== 72,2803 * 5% * 302 10,842
O = ofl&dot A2 72,280@ * 4F * 200 57,824
© % HaI ARY(FX4T)
72,2803 * 4H + 43Y 12,433
© = &It m=l 150,000& * 4%H 600
201 Let24d] 5,000 5,000 0
01 At 22l 5,000 5,000 0
O =u=s8 MM 7 5,000,000& 5,000
206 M= Hl 2,000 2,500 A 500
01 M= 4l 2,000 2,500 A 500
O HEBEEZSAI 221235 < 2,000
DOUHRIIFESS E SCAHI 2 7Y
2,000,000& 2,000
401 Al HIZ 201 8] 150,200 80,000 70,200
01 A& HI 150,200 80,000 70,200
O =323 EM 5 && 7,000,000 7,000
O HWHZAES2 SHIRIALS
10,000, 000& 10,000
O &s3+=324 =& s & 10,000, 000& 10,000
© =Z el (MF,AlHl) 50,000,000& 50,000
O HM=gd(us, 2&871) 50,000, 000& 50,000
O HHZALSE +2 AHLE
10,000, 000& 10,000
O WHTASE H4E L FIE Ha
2,200,000& 2,200
O STA ZE MY 11,000, 000& 11,000
gE2 NE28 52 175,100 146,200 28,900
201 Let2d] 67,200 71,200 A 4,000
02 2324l 67,200 61,000 6,200
© AM&&EHl |l 50,000,000& 50,000
O YgEZzXE #HE 5 7Y 5,000,000 5,000
© JIH, ®II&H 22l 88 2
2,000,000& 2,000
O ZelHliole 28 € sAE+ il
500,000& = 12& 6,000
O g=a MI|etd el el
350,000&  12& 4,200
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